Lesson 8: Operational Amplifier – Problem Set
1. An op amp is wired as a non-inverting circuit with R1= 1K and R2= 4.7 K.  What is the circuit diagram and the gain?

2. A 741 op amp is used in the above.  Label the PIN OUTs of the amp to match a DIP package.

3. An inverting op amp has a gain of 100 and needs an input impedance of 1.5 KW.  What will the R1 and R2 values need to be?

4. Draw an inverting adder circuit to add two input voltages of 0.2 V and 0.35 V and produce an output of 7 V.
5. The circuit below is a 9V battery tester.  If the applied voltage is less that 7.5 V, the red LED should glow. If above 7.5 V the green LED will glow.  Select values for R1 and R2 that will allow this to happen and label the LEDs as red and green.
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